<l EBIT A RRER> — el L sl —

[#7%) GO EpID T Z =7

1| DT T 7%, HOFEEEEIZET, (4) (Z)A(l) (3)

L y=2 S @@ 9@ 26 1
(-1,-8) (-2,-4) (-4,-2) (-8,-1)
RO GHBETHESR

(2) xy=-6 — (1,-6) (2,-3) (3,-2) (6,-1)
(-1.6) (-2.3) (-3.2) (-6,1)
E 100 b ANEEHE TR . >

(3) y=2x = (0, 0)1, 2)EHEMTES

M)y:~%x~ 0, 0)(2, -3)#EHETHR

1 ©@

2| HEOQ)~@)D T T 7OXKEZNENRD X,
(1) [f8] y=ax I2(3, 2)ZHRA yA
2=3a

oy

(2) [f8] xy=a I=(3, 2)ZRA ©)

=Y

a=3x2=6 — y:% 6

(3) [f&] y=ax IZ(3,—4)ZHA
—4=3a

4 _ __4
3—a - y= 3x

(4) (3

(4) [f8] xy=a IZ(3,—4)ZHA

a=3x(-4)=-12 — yz—%%

3| HDOZ T 7o, LFORWZE X /2 S0, yA
(1) A DFERENRR, 4D L X, MEFROXEZ RO X,
[f#] a=xy &Y A

a-2x4=8 — y-2

=Y

(2) 1) IZBWT, BOXJEIEN—6 DL X
B Dy A RDIE I,
[ﬁ]ﬂ)&Uy=§4:k>6§ﬁl

__8__4
Yy="%""3

Se BernrsEET



